Name Date

[ Count by 5s, 10s, and 100s Guided Lesson Explanation ]

Explanation to #1

We have to count by 5s ,so the sequence should follow:

120 + 5 =125

125 + 5 =130

130 + 5 =135

135 + 5 =140

140 + 5 =145

145 + 5 =150

In question, there is 132 after 125 , but it should be 130.
120 125 @ 135 140 145 150

So 132 is the odd one.

Explanation to #2

Step 1) In this question we have to count by 10s , so we add 10 more to
the current number.As-

440 450 460 470 480 490 500
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Name Date

Explanation to #3

Step 1) We have to find the missing number.

250 350 550 650 750 850 950

Step 2) Here we see, numbers are counted by units of 100. So if we add
250 + 100 = 350
350 + 100 = 450

So the missing number is 450 in this sequence.
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